PAROWAN VALLEY DISTRIBUTION SYSTEM

%% 1973 ASSESSMENT *%

$ 1,200.00

(Actual corrected Assessment totals $ 1,191.00)lj

FORWARD: As per the minutes of the annual water users meeting of 1973,
the 1973 Water Assessment is to be in the amount of $ 1,200.00. Also,
the minutes stipulate that a $ 10.00 minimum water assessment is to be
levied.

CALCULATION OF ASSESSMENT:

The 1973 Assessment is to have a $§ 10.00 minimum water assessment levied.
Therefore, $ 1,200.00 divided by 27,458.20 equals $ 0.0437027918, cost of
one acre-foot of water and $ 10.00 divided by $ 0.0437027918 equals
228.82 acre-feet, which equals the amount of acre-feet which equals

$ 10.00 assessment.

From the assessment rolls, it appears there are 17 minimum $ 10.00 assess-
ments. Therefore, 17 times $ 10.00 equals $ 170,00 and $ 1,200.00 less

$ 170.00 equals $ 1,030.00 and 27,458,.20 less 2,097.61 acre-feet equals
25,360.59 acre-feet. The amount of $ 1,030.00 divided by 25,360.59
acre-feet equals $ 0.0406141980, which is the pro-rata cost of one acre-
foot of water which is multiplied times the amount of acre-feet of

all other water users and this equals his or her 1973 assessment.

PROOQF : 17 times $ 10.00 equals $ 170,00

0.0406141980 X 25,360.59 equals 1,030.00

TOTAL 1973 ASSESSMENT $ 1,200.00

. L
Prepared by:/;Zzii22£i4{,ﬂ“’77?;¢éfii::

Richard R. Pexton
March 20, 1973

1/

See accounts No. 46 & 47. On April 24, 1973, the commissioner corrected
the amount of wdtez to be divided bewween these two accounts resulting
in the amount of only $ 5.00 to be paid by each water user.
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